Name:

Date:

Topic:

Class:

Main ldeas/Questions

Notes/Examples

EQUATION

A mathematiced statement thet uses Gn

Guat gign (5) to show thet 2 expressions owe e

ual .

SOLVING
et

Many equchons include a variable. To solve an equo'non means to
find the value of the variable that makes the equation true. Solve the
equations below using mental math. Explain by checking your answer.

Equation solution Why?
1. x=2=7 X=q C‘..z-_—,—,
2. 6+k=8 k=2 L+t2=8
3. 9=w+5 w=t qQ=4+5
4. 10=p-3 pP=3 \b=13-3
5. a+3=2 a=-\ -143=2

INVERSE
OPERATIONS

The equations above are called one-step equations and can also be
solved using inverse operations. Inverse operations undo each other.
Examples of inverse operations:

[ Additon

]“[ Subtachon ]

[ Mb(,lﬁpum.ﬁmJ “[ Division ]

Steps to solve a one-step equation using inverse operations:

0

Locate the variable.

2]

Determine the operation tied to the variable.

3]

Use inverse operations on both sides of the equal sign to solve,

o

Check your solution!

SOLVING

EQUATIONS
gt addion,

Addition Property of Equality: When you add the same number to both
sides of an equation, the two sides remain equal.

6. x-3=4 7. 15=k-8
313 +2 48
X="1 23=K
15=
Y=4v
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8. n-10=-4

+10 +IO

n=G

|

o-10=-4
4=y

9. 3=c-(-2)

+(-2)  +(-2)
-S=C
| -3=-5-(-2)
-3=-542
—-2=-3V

Subtraction Property of Equality: When you subtract the same number to
both sides of an equation, the two sides remain equal.

10. x+5=16 11. 13=9+r
Eﬁﬂk‘ﬂ'ﬂﬁs == 2
y x=1 o4
’ N+S=lp I23=9+4
itacton, lo=1bv 13 =38V
12. -15=3+m 13. w+(=6)=-1
3 -3 “cw) V)
i-—l?=m - ——W: s
- =S = 3+(-%) S+(~L)=-
-6 = -I1S ~1=-vV/]
14. n-8=6 15. a+7=-2
MIXED LAl =
a 0@;6;(%% 3 IH-8=( EE -941=-2
b=bV -2=-2v
suhtuovcte sty
16. 4+z=-6 17. 9=k-1
-4 - 4
2=-Id (~2=K
H+(-10)=-b [2=¥] =g
-p=-bv “qz-qv
18. f-13=16 19. 25=16+r
+13 413 - ~lb
Tro2a] [@=r
=2
E 2913 =, .j- 251149
20. y—(-4)=12 21. 9=h+(-7)
¥ (-H) +u) (=7 -(-7)
*_T_:;_—— 1o _=h]|
g-(-) =12 =l +-7)
g2, q=qv
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ONE-STEP EQUATIONS MAZE!

(MWMM%GSVMSWW)
Directions: Solve and check each equation. Use your solutions to navigate through the maze.
18+k=-6 4=t+(-4) y-13=-6 E dl
-8 -Ig () - () 3 #1343 @ nat
K: —z‘-l 2 =t \] =7
8+ =~V Y =8+(-4) Y13z b vV @
@ 12 n 24 @ 45
16=p—(=3) 25+c=14 f+16=-8 -40 = n+(-5)
H3) +(-3) -25 25 -(-8) -(-9
; 19 c= -1l 39 -8
13 = P - "35 = n
o= 13-(-3)V 26+¢1D= |4 4o = -35'+ (-5)
v-]5=—]0 —]= —]4 h—(—7>)=—9) x+5 7
| + (=) H
LNy Y W +5=7
v* h=-lb X=2
6-16 =-10V WD =9V =1V
1 -12 -6 16 @
z+(-4)=15 -9=n+3 23=d +(-7) 13=p-4
- (-4) ~(-4) 3 -3 3 4+
- o -30 o0
4 +(-)=15 -qz=-1243 vV Bz(1-4 v
(s) B 1" 30 17 G7)
39=m-18 10+x=-9 14+k=3 a+b=-2
R e uCEEEET -b -b
— 17 _— -4 —
57=m k=-1 a=-%
A =51-1% MH-1)=3 Qib=-2V
ANNONEN PP EING
6=y-(-15) -7=r-13 N+h=29 y-14=15
+13 413 N+
=20 b= r -18 1 \=
-1=b-BV 29-1d =15 v
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Name:

Date:

Per:

Unit 5: Equations & Inequalities

Homework 1: Solving One-Step Equations
{using addition/subtraction)

Directions: Determine whether the given value is a solution to the equation.

1. k+19=51 k=32 2. 16=x-27; x=43 3.28-m=17 m=9
232+14 =5/ o= 43 -27 23 -9=1
51=5] lo=lb 19 # 17
Ves | l ‘lts’ No
4, y+19=11 y=-8 5 19=p—-(3); p=22 6. 4+r=-7, r=-11
-gHq=1) 19 = 22-(-3) B (-1 =7
=1 ) lq 25 _ -1=-7
Yo 1 [Nb } Nes)
Directions: Solve each equation using inverse operations. Check your solution.
7. a-8=9 8. v+15=13 9. 16=n-24
48 18 -\ -5 a2y 124
0=11 [@0=4
-g=9 ~2+16=(3 lo =4D-24
Q=9v 13=13 V] o=V
10. ¢c-2=-16 1. 18+k =11 12. -12=w-7
+2 X2 -1g  -18 +7
-12=-5-7
"’]L"‘Z:-lb lg + ("1) :” IZ_ _2:_'2\/
o=l W=l !
13. g-38=13 14. 8=2+x 15. y-9=-20
+3g 138 -2 -2 1 49
@61 -10=X N=-1)
Q= (~
51-38 =13 8 2"_' '? --9=-20
13=13v -g=-§ -20==20+
16. r+(-5)=14 17. ~4=m—(-)) 18. a+(=9)=-16
- (-5) =(-5) HED_+HED - () -(-)
=19 5= a="1
1a+(-s) =1 -41’5'(-0 14 (-2)=-b
Ty, e e 1% “lo=-1V
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

SOLVING

EQUATIONS
wthy mdbefecat o

Muttiplication Property of Equality: When you multiply both sides of an
equation by the same number, the two sides remain equal.

3.X_9. nk_s.
1 3 9.3 2 = 5 -1
X=27 2 . ‘ K =65 2
qsq‘/ 5=5‘/
;{“.ﬂ=7.-(9 4.9'_2=£ .8
- 8
m=-42 "llp=0i
-42 |
—_— _"l-b
o -2° &
71=1v -2:-2V/]

Division Property of Equality: When you divide both sides of an equation
by the same number, the two sides remain equal.

SOLVING 5. 6y=24 6. 30=2f
EQUATIONS | =2 >~
FQUATIONS
2424 30=30V
7. 8n=—8 8. 63=-7p
2 3 -7
,Y\="|i -—‘]:F}
-1)=8 3 =-7(-)
~g=-8V b3=b3V
92.’%=7o2. 10';—85%&
MIXED
M oty Hg =glv)
Y _ =s5le
8 dgsisty = Lg=ug v
q=
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N Je=2 12°112=2 .2
3 -3 2
c=4 ~24 =2
_-24
-3(2)=-7 -\2® 2
-21=-27/ ~l12=-12V
=Sy -5 14. 36 =-9y
13 2=-3" S0=7y
-5 -4 1
V= (5 """f”‘ i l
4.5_ = -3 36="‘7("‘0
5-3:-—3/ 36=30V
~b. a 16. 5p=40
15 -14==.-0b 313 =
‘s ENY jP"’g
-4 =84 s(8) =40
-b Yo =to v/
-lq=~14v
17. 34="2n 18hlo 114
-2 -2 4
!—l'] =w r=-44
3t=-2(-{1) —5.;}4_ = -
84234V 1=\ V
Determine whether the given value Is a solution to the equation.
21. 7p=84;p=12 _a.
CHECKING . e
—‘(.VZ-)—?L( ——‘pz -_'_g_
SOLUTIONS — 3
NS b=~ Nes
23, X _g k=56 24. —42=-3m;m=-14
~ -HZ = “3(-14)
e .9 -u2 # 42
-1
-2%¢ No No
25, 16x=-80;, x=-5 2. i=—4;c=—2
lb(-58) =-%0 -
~-g80 = =80 ~:£-= -’—]
Nes 1$-4 No
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WHY DID THE CAT SIT ON THE COMPUTER?

Directions: Solve each equation. Show all work on a separate sheet of paper.
Find matching answers within each set. One will have a letter and the other a number.

k+7=61

k-13=-12

o =k-(-2)

k+(-5)=13

-54=k-12

Write the letter in the matching numbered box at the bottom of the page.

m-11=17
0. 3=m+7
N. 3m=-12 W\“"l 4. -35=m+13 m=-48
£ 5=% M=-30 |20, m+(-4)=-17 m=-13
v. 2= mMm=2% |48 26=m-(-11 m=I15
S. -2m=26 m=-2 |4y po12--a2 m= -30
T TZ | 4 20.] 2
T NN L
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Name:

Date:

Per: Homework 2

Unit 5: Equations & Inequalities

: Solving One-Step Equations

(using multiplication/division)

Directions: Determine whether the given value is a solution to the equation.

1. X298 v =114 2 17k=5% k=3 3. -72=-8p; p=-9
4 (L3> =5) -12=-2(-9)
'_“‘f_ = 2¢ 51=8) v -12#72
29#2% No NS No
4.15=2L;a=60 5. X -4 w=-28 6. ~162=482=-3
-’ 7 " ~14,(-3) =48
5= :bq_o 28 _y yg =49 v
(5%-IS No 4=y Nes Yes
Directions: Solve each equation using inverse operations. Check your solution.
e x 8. -/v=14 9. -30=-5p
7>-=10 -9 — — — =L
8 10 1 - S -5
X =0 V=-2 EE’
0 . - =
& =10 D=4 30 =-sle)
=10V =14 ~30=-3/
a. . » 11. 12m=60 .40
10 -3=5 -9 = 12. _—4_3.—4
l-?:l =r i m=5 ‘a=-l7.]
- =21
3= 5 12(8) =D -L:; =3
-3=-3V bD=lbov’ 323/
8. 57=-37 14. =2 . - 15 E93 .9
3 -3 - 4
19=£ 362 K=\
-57=+ - =36
51 ,im), b= a—‘,‘T=B
S1=5M —b=-bV \3=13V/
16. 6h=-84 2.¢ 18. 117 =-9s
— 175=-=-10+2 =S
b b 2 -q -ﬂ
h_-.-lql 1(‘,:‘20 -3 =§
G(H4)=-84 "2 __ip (171 =-9¢-13)
-84 =24V Zib=-10V =V
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Name:

Date:

Toplc:

Class:

Main Ideas/Questions

Notes/Examples

MIXED
(One-Step Equations

Use inverse operations and the properties of equality to solve each
equation. Check each solution,

~

1. 4x=28 2. 25=k+12
4 4 -z 12
X =" 3=k |
' 4(1)=22 2s=13+12
28=2¢/ 26=25V
4, v-14=-5
£ '%“2 °S +4 414
r=-10 V= q I
-10 =-2 Q","!'='£
s -S=8v
-2=-2v
5. —12=7+m 6. 16=-8p
-1 ¥ 7
_|q=m ‘2=€
=12 =7 +(~19) b= -8(-2)
~12=-(12V lo=lbV
-e. w 8. 7+a=-1
7. _7=——6 - - -1
HZ=w
= 42 1+4-8)=1
.
~|==|V
-"’:-’7/ '
9. g-(-4)=21 10. 6n=-72
1)+ © T
- =-1Z
J=hn (7 = (4)=2 (1=
2] =2]/ ~72=-"T2v
= B _ 12, -8=s5+(-3)
noog=4 e L-3) -3
' =-|(,’ -5 =¢
__lgzl-}
- 8 = —5+(-3)
4"4\/ -8=-9 /
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TRANSLATING
One-Sfep Equations

*KEY WORDS FOR = ;
IS
equals
reswits in

Translate each equation using a variable, then solve to the right.

13. "The sum of a number and 7 is 14." Solve:
N+1=1p
n+ '1 = ’(0 gl it B
14. 24 equals the product of a number Solve:
and 8. -
. 24 = &n
2-"" = n.g ? g
3=Nn
15. “14 decreased from a number is 59." Solve
nN-14 =59 n-14=59
H4 44
n=13
14. “The quotient of a number and -7 is 8.” Solve
._r)_ - 2 -_’ ::— = ? :7
-]
n=-8Sb i
17. "A number increased by -9 results in -14." | Solve:
N+¢-9q) = - N+ -a) =-14
.) 4 ~(-9) -(-9)
A Vl:= =
18. "-27 is the difference of a number and 4.” | Solve:
- - —_ -27=N-6
27= n-6 o i e
19. *-3 times a number equals -72." Solve:
3-n=-12 enE Tz
-»3 _3
n=24
20. "A number divided by -5is 15." Solve:
n - ‘5 '5‘:%"-"—[5'_5
-5 ,
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Name:

Date:

Per:

Unit 5: Equations & Inequalities

Homework 3: Solving One-Step Equations
(all operations)

Directions: Solve each equation. Check all solutions.

1. x-3=8 2. 35=-5m 42 _15 .
43 43 s = g
x=1] -T=m ug
-3=8 35 =-5(-7) 2 =
2=3v 35=35V] 12=12V
4. 3=r-14 2w 6. -13=6+k
a4 HY 5. == 14 -2 __b he)
3=r [w=28] [k ]
-13=b+(-9
23=31-1Y 23 <-4 13 (f’_( )
23=23V "z ~13=-13 /]
“1Y=-14v
7. én=-60 8 s+23=6 a. a
T T -23 -23 7-5=51
[5=-11] e
1= | _g="15
‘p -10)= bO _l—,fzszb q
- o0 =~V b=tV ~5=-5/
10. v+(-0)=-4 M. Bc=-78 12. 10=z-(-4)
-(-0) =(-1) -3 -3 H-W) 4+ ()
Ve le= z¢]
23 4(-0)=4 -3(2)=-18 10 = b=(-4)
=/ ~7%8 =-718V 10=10 v
Directions: Translate each equation, then solve. Show all work on the back of this paper.
Words Equation Solution
13. “9 subtracted from a number is 40" n-9=4p Nn=49
14. "-3 equals the quotient of a numberand 54." | =3 = é% Nn=-lLZ
15. “The total of a number and 15is -7." n+15=- n=-22
16. “-40is the product of a number and -4." -40=nN- -4 n=0
" HH H " _Q_ -
17. “A number divided by 8 is -9. s 9 n=-72
18. “The difference of a number and -2is -15." n-(-2) =-I15 n=-17
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Name: Date:
Topic: Class:
Main Ideas/Questions | Notes/Examples
Recadll the steps below to solve a one-step equation:
R AT' UN AI_ 0 Locate the variable.
@ | Determine the operation tied to the variable.
WM 0 Use inverse operations on both sides of the equal sign to solve.
© | Check your solution!

SET 1:

Equations
with Decimals

Solve each equation. Check all solutions.

1. x+7.8=15.23 2. 30.58=w-2913

-1.8 -1.% 42413 +2.413

o
| 30.68 = 33.493-2.913
1.43+78 =1523 .
6.23=15.3vV 30.58=30.5¢

3. r-527=29.38 4. 2.5k =62

+57.2 +51.2 2.5 2.5

[r= 82.07

$2.08-52.7= 29.38

‘K-‘ 24.8 ’

2.5(248)=b2

29.38 = 29.33V] b2=b2V

& -

5. ]3.8:-1- .12 6.£—0.08p

7.2 2 ~of
O~ 500 =
1986=n 13.9= 99-36 ) P
7-2 Ho=.08(5D%)

13.8=13.3/ 40 =40

Translate each equation, then solve.

7. “16.8 subtracted from a number is
70.03."

Nn-10-g = 10.03
+lbg8  tlb®

S Y

8. “"The quotient of a number and

6457538
j-¥
N = 3. -lb.bsS
[PRVAY
n= 3.2 |

® Gina Wilson (All Things Algebra®, LLC), 2019



SET 2:

Equations
with Fractions

Solve each equation. Check all solutions.
3 1 1 4
x—ﬁ=z 10.Z+p=2§-
+3. +2 Ltrp= 2%
] q -
°c_r° A3 3| _. - L+2%°7%
x ==L 20 © b L4l =24
2 Ietv o= ul etigT 9
1% 22,24/
p= 2% 1
1 f—]—i—:é% 12. 7-]‘—2=c+]—;-
-4 .3 -
F-e=8  smgeu| BB wmesHed
M) 25 .1 13| -5 -5 BB 4B
3 R e g 12 24 |8
f== es
3 128 _ .85
n %’—"'23 24 - < 12 tz‘/
+=83 5& =C
. 6 15 G S5 .1
1 t— == = 14. y+1= =1—
%m 54 5 velg=lz
. n.y+t - 3 1)
-9 Yh+g=15 1= Vi =% "¢
m= Z q‘ b 2 :..'-S-:l'l
Al 151 =1 & o
‘s T - oW =3
m:qi :;-5 1 L Tf"'w )
S5 _1 D .b -3
2 G- V= 2_-23' TJL -z
15 =5 2:=3 v
Recall: To divide by a fraction, _Mulfi plq by its rﬁagmca.l !
15.?%“% .3 16, 5§=;k
L1\ .S 50 _ 4 T
aes (MR |25e -y 1
1.5 -5 5%"! [
1 3 "’ 72 D__S_. =K 5_o.=_:’}__,\1
o=y 5.5, ' o '
i B G e
Translate each equation, then solve.
17. “Two-fifths of a number is 30.” 18. "The sum % and numberis 1 E'"
2 -
5.2 n=30p.5 Z.4p= |5
2 3 TN 5
2 -3
- =+Nn = =
n=15 | 3 ¥
~-Z =
3 3
- 2

GG Wilkon {All Things Algebra®, LLC), 2019



WHAT DID THE OCEAN SAY TO THE BEACH?

Directions: Solve each equation. Show all work on a separate sheet of paper.
Find matching answers within each set. One will have a letter and the other a number.
Write the letter in the matching numbered box at the bottom of the page.

x+11.95=30.55
x
. —=745
N 48
E. 3575=13x
. 98+x=1415

U  x-209=746]

H. 10.54=409+x

X

252
G. 27.46=x-158

=0.95

A. 825=0.4x

4.

15.

7.

12.

7.

17.

11.

4x =258
2191=x+8.16

X -015
124

x—-672=17.22

X
0.28

P85 et
2.2

=154.5

32.98 =3.4x

x—228=1296

3.8x=16.53

WAy E

b |

© Gina Wilson (All Things Algebra®, LLC}, 2019




Unit 5: Equations & Inequadalities

Name:

Date: Per: Homework 4: One-Step Rational Equations
Directions: Solve each equation. Show your work and check your solution.

1. p+7.058=213 2. 0.4x=21.8

-7.05¢ -7-058 o4 o.4
’{9= 14.242 X=54.5
| S . by

242+ 1.058= 213 0.4(s4 5,)9 _27_"82 Y
21.3=2.31 218 =2,
3.187=c-129.5 1.68)
A {78
+129.8 +129:5 4 7.68 20.55 (7 )
s, Z =C [n=151.824
' (2.7-14H8.2-129.5 . 1S7.82Y _
12.7=18,7V s 2088
20,65 = 2085V
5. 6.125=0.35z .. ]l+x=4_5_

0.35 0.35 2 6 Lo s
L5 =z %+X=2:1 \ 433:11_‘0_
C L-125:035(N5) | -3 -3 2,=2

> 2.
b.l253lp~l25'/ z — 10 29 .29
x= 5 T eV
X:
1 2 S 5
.—y=4= 8 k-2—-=6—
7.5y=4% 6 12 GHF_Z_s___{og
2.y =222 4 fo4) - Y2 K- =311 6 ~ 912
7z17 85 7 z(gs):l'{ng ‘_‘,’ 1Z 31 .11 -1
y= L(W)-2 T ' BN
= ol 22 .22y 4 12
1= 35| 5 s =9y
9 5—-9—=w+2§ 10. ll=a—l§
10 6 sa _3_L+2§_ 3 4

Sew+d PTOS e e deary o y=23t1E
._.'n 1 _51 = ‘ﬂﬂ..‘.ﬂ. Y 2,3
=L pi e i 15 % =a 3 =374

B - ;e | o= $-34

1 1<3 d=4v
3E=W a"3
® Gina Wilson {All Things Algebra®, LLC), 2019




Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

REAL-WORLD
SreGep Equalienvs

Use the steps below to guide you in writing equations to solve problems.

@ CHOOSE A VARIABLE

@® WRITE AN EQUATION

© SOLVE!

What are you trying to find?
Assign this to a variable if the

Look for key words
for the operation!

problem doesn't give it.

Be sure to
check your answer!

SET 1:
Olofofinon &

Directions: Define a variable, write an equation, and give the solution.

1.

There were 16 golfers eliminated from a
tournament after the first round. If there are
38 golfers remaining, write an solve an

Varlable:

g= golfers

equation to find the initial number of golfers.

Equation:
Sulla o -l = 3%
g—ltp=38 54-1L,=3% 3
+i +lb 32=3% v [Solution:
=54 54 golfers
2. Manny got a puppy for his birthday. After Varlable:
one year, the puppy gained 28 pounds and W= W(/ig ht
now weighs 71 pounds. Write an equation to
find how much the puppy weighed when Equation:
Manny got him. -
_ w+2¢="/
w+2¢ =1l 43+28 =1
-29 - 2% 11=1 )\/ Solution:
e = 132
W= 13 H3 pounds
3. There were c cups of flourin ajar. If Ari uses Variable:
2% CLIprs1 t? n;ake a cake, and there are 1 % c: CU.PS
cups left, find c.
2 % l 1 “l‘s‘{ - 2% "‘\t Equation: N
- =12 17 4 =3 - =
(.' - o - .i .§.=§. v Solution:
+—‘I5IL 4+l z 2
— C3 Y Cups
c= -‘.?; c= "L"‘-F
4. Sam's car averages 24 miles per gallon. Variable:
How many gallons will he use for a 300-mile -
SET 2, road trip? 8 80-”0%
- Equation:

2 Duscon

24 9= 300 24(12.58)=300

300:.3@/ 243 =3OD

]3= \2.5]

Solution:

12.5 gallons

© Ging Wilson (AllThings Algebra®, LLC), 2019




5. Jordan and Alex are playing a video game.

Variable:

Alex scored three times as many points than P = PO’, Yl+5
Jordan did. If Jordan scored 87 points, how
many points did Alex score? Equation:
P _ﬁ = 3
81— =3 - §1 Z(plz )
4 e Solution:
p=20) 3=3V 26\ poinds
6. Lana spent $59.40 on stamps to mail her Variable:
wedding invitations. If each stamp costs W = Weddi
$0.55 and each invitation got one stamp, invi DS
how many invitations did she send? Equation;
0.55wW=59.40 0.55wW= 59.40
~—- 0.5 0.55 (108)=594¢
0'65 & ‘{D= sq 40‘/ Solution:
w= ) ' . .
1% 108 ipvitations
7. Melissa is a realtor. She sold 29 homes in Variable:
2019. If this was 7 fewer homes than she sold =
SET 3_ in 2018, write an equation to find A, the h hbW\f’S
. number of homes she sold in 2018. Equation:
N, Squaiores 29 = h- 29=h-1
+1 +1 Solufion:
2h=in 36 hsuses
8. Katya sold fruit baskets for $16 each for a Varlable:
school fundraiser. If she raised $348, find the -
number of fruit baskets she sold. b - bas kﬁt
l b Equation:
b b=308 1bb =308
(% o
Solution:
b=23 23 baskets
9. Mrs. Johnson deposited a check for $175 in Variable:
her checking account. If the balance in the -
account is now $724, find the balance in her b ba\ance,
account before the deposit. Equation:
b+ 115 =724 b+Nns=124
- |‘|5 —‘l—|5 Solution:
&
b=544 §49
10. Remi ran a 5 mile race and averaged 9.2 Variable:
minutes per mile. If ¢t represents her final =43
time in minutes, find ¢. t +‘ me
t Equation:
S. = = 9.2 -S§ — =9.
= < 9.2
Solution:;
t=4u Uk min
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Name: Unit 5: Equations & Inequalities

Date: Per:

Homework 5: One-Step Equations Word Problems

** This is a 2-page document! **

Directions: Define a variable and set up an equation, then solve. Give the equation and solution.
1. An oven temperature is rising at arate of 15 | 2. Lake Ontario is 24,360 square miles smaller
degrees each minute. How many minutes than the size of Lake Superior. If Lake Ontario
will it take the oven to rise 375 degrees? is 7,340 square miles, how many square miles
. i iore
M= minutes is Lake Supetrior? )
S= Lake S(A.PCWOP

(5m = 3715
s 15 $-243(0D = 1340
424360 +24360
m= 25 S =311100
Equation Solution Equation Solution
Em=315 25 minutes S-24360 = 1340 | 31,100 s59-miles
3. Camiille went for a 45-minute walk. If she 4. Ramone took the SAT twice. He scored 1340
burned an average of 3.2 calories each on his second try, which was 190 points
minute, how many total calories did she higher than his first score. Find his first score.

burn? X= totad calorics

F= first Score
bs) —X_ = 3.2 (45)
s

F+i90 = 1340
X = |44 -190 -)9p
F= 1IsD
Equation Solution Equation Solution
Y -— -
s - 32 44 calories | F+1a0=1340 S0
s
5. Lyla got a haircut. If she had 2% cutoff and | 8- Frank’s dog weighs 4.25 times more than his
her hair | 82 inches | find the cat weighs. [f his cat weighs 13.8 pounds,
er hair is now 8+ inches long, fi

how much does his dog weigh?

b03= dog’s weight

length of her hair before she got it cut.

H= Yawr teng +h

H-2%=3% By =28 (39)
BT g |
H j o >=58.06s
g g
—H=23 H=ll3H
Equation Solution b Equation Solution
H-2%= 9% 5% inches [ECRR 58.b5 pounds
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7. The toll to cross a bridge is $1.25. If $72.50
was collected at a toll booth one hour, how
many cars went through the booth?

8. Ten years ago, Elijah bought shares of stock
at $1.65 each. The value of the stock is now
1.4 times higher than it was when he

_ purchased it. How much is the stock worth
C=Cars per share now?
: S=8stck
.25¢ =72.50
) .= . {]. S
c =53 §=2.3]
Equation Solution Equation Solution
l.25¢=172.59 5% Cars —L,,,,g = 1Y $2.31
9. Vance is buying a new car for $23,084. If he is

trading in his old car for $9,567 to go towards
his new car, how much will he need to pay
for his new care

X= paymenct

10. Five-eighths of the sixth grade students at
Clearview Middle School buy their lunch.
If 265 students buy their lunch, how many
sixth grade students are there?

- QS(Q_’ - QSG-{ < ) _5_3 = 205‘ ._3_
T 2 s
X= 13517
S = H24
Equation Solution Equation Solution
X+9s61= 22084 | $13,517 25 = 208 Uy etudents

11. Meredith is -:2; feet shorter than her friend

Tucker. If Meredith is 5 % feet tall, how tallis
Tucker?

12. Treena flew home to visit her family for
Thanksgiving and checked two suitcases.

If their combined weight was 71.5 pounds
and one bag weighed 47.8 pounds, find the

T= Tuckers heighst weight of the other bag.
ezl oz b= baﬁ weaght
3~ ST
T-2 - 53 b‘\‘ Y. =11.5
2 BET-) -47. -47.%
3 +2 —
—_— 3 b= 23.1
T- 30 T=5%
Equation Solution Equation Solution
T-3=5% 5% p+ b+41-2=T1.5| 23.7 lbs
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Name: Math 6
Date: Per: Unit 3: Equations & Inequalities

Quiz 5-1: One-Step Equations

Directions: Solve each equation. Show yourwork and check all solutions.

x -
=8 - b 43 o 2, w+_lé_313
X=43 8:8\/ w =11
3. ig_=—__8_r; 4o = -8(-5) 4, ¢c-8=-20
-3 ¥ 40 =140 v e+
“'5:V- cC=-12
5. 14=a+(-3) 4= 174+-3) 6. '—1=_£ Y
-¢-3) -(-3 4=t/
Y=
7=a f
7. 3n=227 3(-D=-2o 8. k-(-9)=-7
> 3 27527V +(-0) +(-9)
n=-A K=k
(5'76.)—Y—=7.125 (5.2) 10. 1615=49+g
52 -49 4.9
\/ = 317.08 i{.25 =9
317.08 =112
sz 1%

.125= 1928V

H+13=24
24=24v | 1._X=H4%
2. W=l
3. r=-5
4 C=-2

-12-8=-2p

-‘2-0:""25\/ 5. a:l-{

“lo-(-9) = -7
=1=-1v

LIS= 4.9+11.28
WIS = 1LISV

© Gina Wilson (All Things Algebra®, LLC), 2019



2 8 & 1 ] A
]'— = — e = 12. —_—=x—-— =
gsz 15 2 15 =23 n._2=13

P N

Z.4 -8 +—‘é +13
T 5 - L2327t
29 _ TR
10 - X-ZIO IS 1S

Directions: Write an equation using a variable to solve each problem, then give the solution.

13. Pineview Middle School has 158 fewer students enrolled than W ellington Middle School. I
Pineview Middle has 1039 students enrolled, how many students are enrolied at Wellington

Middle?

W= \N&\\'\r\ﬂﬁr\

W-158 = 1039
+168  4I6¢

W=197

Equation:
W-15€ = 1039
Solution:
N7 studends

14. A group of six friends went out for dinner and equally split the dinner bill. If they each paid

$24.70, what was the dinner bill2

B= bill
(&) _5_: 24.70 - (b)

B= I43.2

Equation:

B -
o =24.710

Solution:

#)48.20

18. Travis bought a turkey for Thanksgiving. If the turkey costs $1.30 per pound and he paid

$18.85, how much did the turkey weigh?

W= wzigkd-
19.€5 = 1.30w
|.30 |-30

145 =W

Equation:

[8.85 = [.30W

Solution:

14.5 lbs

16. Elisaran a total of 8% miles on Saturday and Sunday. If she ran 5% miles on Saturday, how

many miles did she run on Sunday?

S=S(,Lndou1
54+S - 8%
g = U4
-hj _
l.}

S = 3’%@

8= -LIE )

Equation:
54 ts=gd
Solution: } .
\3_2% mi es
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Name:

Date:

Topic:

Class:

Main |deas/Questions

Notes/Examples

Whaty i ay
INEQUALITY?

A mathematicod sentence  tHhat

ComPares cx?rﬁ Ssions.
, ctecetaan. | ISIESSTHAN - [ o o . T IS GREATER THAN
Unequalil ISIESSTHAN | orequaLto | 'SGREATERTHAN | "o equaLto

SYMBOLS £ < > >

Write each sentence as an inequality using a variable.
WRITING 1. “A number is greater than or equal to 5.” n=zs

Wm 2. “A number is less than -17." n<-11

3. "40is less than or equal to a number." HO £ n

4. "9is greater than a number.” qQ>n

5. “A numberis fewer than 14.” Nn <14

6. “A numberis at least -3." Nn>-3

7. “A number is no more than . R

8. "A number has a minimum value of 9.4." Nn >94

9. “A gameis designed for ages 13 and up.” 9 >13

10. “The theater can seat up to 500 people.” S £500

SOLUTIONS
U i Pecqualiy

A solution to an inequality is a value that makes the inequality true.
Determine whether the given value is a solution to the inequality.

11. x>16;x=20 12. p<5 p=8

20716 s <S5 No
13. k<-13; k=-4 14. c2-10; c=-7

e No | T127P° yes
15. 0<aa=27 16. —1>mm=2

20€ 2 yes S1>2 o
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17. n<3.; n=3.089 18. f>13.04; f=13.008
3.0%84 £3.) 13.008 >13.04
Nes No
19. y>-5.25; y=-7.8 20. 60.32v; v=60.295
2 ,b0.29
_.",8 7-5‘2q (00.3 -—‘.002— 5
No NS
2 7 4
21 2—ra=-— R —rn=l=

az 3 a 0 22. n<l=; n 19

32z

o ~ 3 N& E: 3 NO
1 1

->q g=— 4. -, z=—=

23 y) >q: q 0 24, z< z 7
>3 - -
1725 Nes &2 No
The set of all solutions of an inequaility is called the solution set.
We can graph the solution set of an inequality using a number line
GR A PH I NG with an arrow pointing towards all possible solutions.

WWWXA/U% Example: x2>4 means "x is a number that is greater than or equal to 4."
<4+

0o 1 2 3
When graphing inequalities:

> Useon_O_{zcﬂ___Cj_tchfor £ o ? symbols.
> Useaclosed  _circle for £ or = symbols.

Directions: Graph each inequality on the number line.

| e e o
4 5 6 7

25, k<2 26, a29
EXAMPLES o | ey
Stel 23485 | 4,189 pN 12
27. pS% 28, 5>x X <5
2o 2234 | 23 450678
29. -3<m m>-3 30. y>1.7
- e |,
T saas | Ao iiis’
3. z<-= 32 %Zx X‘_’-.%
“ —0 & -0
EEEE TR AR W
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Name:

Date: Per:

Unit 5: Equations & Inequalities

Homework 0: Writing & Graphing Inequalities

Write each sentence as an inequality.

“ . " 2. "16is greater than or equal >

1. “A numberis less than 3. Nn<3 to @ number.” bz n
[ 1 " :_3_. 1] H "

3. "A number is greater than e n>sg 4. "A number is at most -4. n <-4

5. "Anumberis no less than -11." Nn 2-\l | 6. "$75islarger than all bids." 5 > b

7. "A bus can hold a maximum 8. "Roller coaster riders must be

of 60 students.” b = Lo at least 48 inches tail.” r=4g

Describe a situation that can be represented by an inequality. Then write the inequality.

. To earn exta credit, the Inequalty:
students have 4 answer at |east ezl
SiX_ bonus oruestions.

10. Gevvy  must drive  wituin the Inequalily:

55 _moln__seeed Limit: .
pn S¢ & £55

Determine whether the given value is a solution to the inequality.

1. x<15:x=28 12. n2-4;, n=-1 13. w<-23; w=-27
Z -1z 4 -2 £ -23
14. a>-6,a=-8 15. r<12,r—1§ 1. y> _5_ y=§-
> -b 2’ 6. ¢
No | & & V& £ >£ No
17. ¢ 2 6.05; c = 6.0389 18. k<-—]- k-—é 19 p> -1.9:p=-1.4
> - -
b.0R89 Z L.0S No -3 L--_'\_.r J& |4 > -1.9 \ffS
Graph each inequality on the number line.
+— — o)
20. x>9 —t—t—t——t———+> | 2. m<-2 «— —t—>
b1 8 9101l 12 5 -4 -3-2-1 0 |
> o—
2. z>3 ettt | 23. 15<p = ——t——t—+—+— >
4 -2-1 ot 23 ¢4 pz).8 -2 -1 0}V 23 4
e—0O O ?
24, —7>a —t—t—+—F—+—+—+—> | 25. z>-38 «—t—t—t— +—>
a<-1 -16-9 -8 7 b -5 -4 - -5 43 -2-1 0
o— &——0
26, c=2-12 —t—t—t—t—t—t—t+> | 27. —l>k -—t—t—t—t— >
-1S -l¢ =13 <12.=1 -10 -9 20, H3 271 01 2
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Name:

Date:

Toplc:

Class:

Main Ideas/Questions

Notes/Examples

SOLVING

INEQUALITIES
w it addtren,
L suiitduactron,

¢ Addition Property of Inequality: If you add the same number to both

sides of an inequality, the inequality remains true.

o Subtraction Propenrty of Inequality: If you subtract the same number

from both sides of an inequality, the inequality remains true.

Solve the inequality and graph the solution.

1. x-5=2-2 2 k+3<7
+5 +S -3 -3
*— — £ )
0O | 2 2 4 5 0 I 2 3 4 8 b 9
3. 2>p+7 4, y-2<-12
_—, -1 +2. +2
=T
e [P
Alﬁl 1 L L L L Il . Alﬁl ' l‘, L L L -
-1z -] -p 9 -1 ~bL -3 ~12 -}l ~10 -9 -8 -7
5. a+(-7)>-5 6. -55r-4
(-1 —(1 +4 B
|a>2 ? -l¢r rz -l
o— o———
-1 0 1 2 3 4 5 -4 3-2 -1 0 | 2
7. -5>8+n 8. c-(-1)<9
- ¥ +-1) +(-1)
e
3 (VR 1
& ~O & —@
1l =S =14 =13 =12 -1 =)D 5 b 7 %8 9 10 N




9. 1.4<g-58 10. m+3.7410.85
“’5.8 1’5.8 "3'-, -311
-249 |3>7.z lmé’l-ls‘
O—— —p & -0
45 61 % 9o | 45 61 g9 I>,
2 4 7 1
ll. h—‘é—ﬁg 12. ]§<]z+s
Z +2 -
373 -1 -l
hzyg S <¢s ('S' >S5
— o— »
M TR
Determine whether the given value is a solution to the inequality.
13. x+16<23; x=9 14 m-2>-7,m=-3
IDENTIFYING O+l £ 23 -3 -2%-7
— > -
solutrong 25 £ 23 57 1
No Yes
15. 5>7+k k=-1 3.1 3
’ 16. - 2—+y, y=—
577+(-1) ; 2 5
550 T2zt
No No
17. n+(-7)<-10; n=-8 18. -5<p-16; p=11
R +(-D £ -0 =5 <411l
-16 £ -I1D -6<-5
Nes No
19.124>r-39; r=16.25 20. z+372101z=6.4
124 > | b.25 -39 44372 0.}
2.4 >12.35 0.1z lo.1
Nes Nes
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Name:

Date:

Per:

Unit 5: Equations & Inequalities

Homework 7: Solving One-Step Inequdlities

(using addition/subtraction)

Directions: Solve the inequality and graph the solution.
1. x-3>-7 2 p+2<19 3. 4<k+9
+3 +3 -2 -2 -9 -9
X>-4 e -5¢ K=-5
1 b-s 4321 | Wewn 1w | 8165482
4. v-16<-2 5. -5>8+ . z=1> -1
tlo o -g-¢ + +)
m -
Vv < 14 ~13 7 J <13 Zz0
0 berr——oono0 *—
N 1213 415 b 11 | b5l B2l - | -3 2 -] 6 1 2 3
7. 72a-(-6) 8. c+(-2)>7 9. h-035<09
HA) +(-L) ~(-2) (-2 40.35 +0.35
12 a ne | ¢ > 9 he¢l.2s
— o O— | «—— o
‘-'2 ~') 1; ) 2 3 '4’ ‘lo'l gl 9 )'o i 1'27 2 -l o lrzla' .'.}'
10. 8.5<m+39 n,.2.3 12 1o4t
-3.9 -39 AT A .p+32243
— +a +a f-!-l =213
i <m m> 4.0 1 ID z 3
L 3 F
| g (-—23— r<]2_ P> =
‘v
<& L 1 1 1 1 1 L - Pl 1 L L L L ] 1 > Pl 1 4 L .l_ 1 L IA,\
] 2 3 45 b1 -l 01 23 4 5 2-10 1 2 34
Directions: Determine if the given value is a solution to the inequaiity.
13. a+8<3,a=-7 14. -4>23+m; m=-5 15. k-16>-6 k=11
4943 ~H 234+ () -1 >-b
| & 4 2z2-2 -5>-0
3 yes
No Nes
]6. p+(—2)>6;p=8 17. ].4sy—0.2;}’=].5 18. C+l<é;C=§
2 +(-2) > b .4 £(.6-0.2 3 5 4
3. 1——'- 4.&-
b> 6 1.4 <« L3 q72"s
No No T4¢E Nes
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

SOLVING

INEQUALITIES
with, Vudliplicatiety
& Do

Muttiplication & Division Properties of Inequality: CASE 1
If you multiply or divide both sides of an inequadility by
the same positive number, the inequality remains true.

1 2x¢10
2z 2

‘X<5}

2. 7a2-63
7T

& O >
2 3 ‘l‘} s b N2 ‘-,'2_ -l -0 -9 -8 -7 v
m L}. k
3.8 . 3 F k.
35328 4 2>4 |
mz 24 > K K <-8
_________________J
< . 4 L 1 1 1 1 - 4é| 1 1& 1 L N o
T2} 223 24252621 | )l -0 9 % ) b -5

Multiplication & Division Properties of Inequality: CASE 2

If you multiply or divide both sides of an inequality by the same
negative number, the inequality remains true by reversing the direction
of the inequality symbol.

5. —7x2 28

6 5
-15 -3

b <N N>L

) -0 o——
S sHsa | & 48 bhwa
’5' '2'

ya .-5 £ <7.-
7._5<-3 8._2s7 2
’p> \5| ¢ z-14

o—— o

12 13 14 16 (L N I8 N o -1 - B =12 -
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MORE
PRACTICE

Solve each inequality and graph the solution. Watch out for the flippers!

9. 8a<-48 f(;i..is3--'-f
g g ~4
& —0 —
9 -8 ) b -5-4 3 | -5 -4 <13 =121 -0 -9
1. 5w < -35 9. r
M2 2. 2L,
= 2 12225
@ 192y r&£18
<. 1 1 1 L L Nl L L. 4 [1 1 I 1 1 1 L .
H &5 b1 % 9 10 18 o \7 \8 19 206 2|
'—"n 14- _]6>8m
ch 4. - ~16>0om
13 _72 'l s <
‘n £ 29 =27 m meL-2
- *__-I—__—:——? 1 L A < 1 1 1 1 I 1 [} -
' 2 B e e

‘2'5220'7,1292630'31

157%p<20 '%

< ©

>
>

[t ]ﬁ 2525 {14)

[tz 735 |

1
L) ) 1) L]

1Z 3 ¥ 5 1

&
<

45 1€ 9 b

Determine whether the given value Is a solution to the inequality.

17. 4ms-16, m=-5 18. -24<-2c;c=12
IDENTIFYING u-5) £ -lb ~24 ¢-2()2)
Solulions ~20 £-1b -2y ¢ -24
Nes No
19. %3—>5;y=—l8 20. %2—3:z=—40
-8 55 ~10 2 -3
- g
L>5 Nés -5 2 -3 No
® Gina Wilson (Al Things Algebra®, LLC), 2019




WHAT SHOULD A CLOCK DO on 4 ol burgy?

Directions: Solve each inequality. Show all work on a separate sheet of paper. Maich the
solution to the inequality with its comesponding graph within each set.  One will have a letter and
the other a number. Wirite the letter in the matching numbered box at the bottom of the page.

. | <324 X2 s | ety
2. x-11<5 X£1lb | e >
1. | 12<x+15 3 =X N DU S 4
3 2 - 0 1 2 3 4
16. | x-6<-11 X<5 . >
5. | x-t9210 e | I 0 S
M.| 7213+« Lz X |k o>
8. | (D X426 | e
1. | 8<x-(-7) L &X | D i
3. | x+(=2sl X = E. < 1:1 1:2 1:3 |:4 1:5 3 1=7 113:

4. | 6x<30 XES C. e ——— >
43 412 1 <10 9 8 7 -6
9. | Z>-4 Xz-12 F. € e @—— >
3 112 13 14 15 16 17 18
2. | Z<-7 Xz35 | €l —————>
_5 4 5 -4 3 2 4 0 1
£ - Ol —_—_——)
B.| 2x>18 X i U A4 413 412 -1 9 8 7 -4
2 e
1. 427 “o' X 0. 31 32 33 34 35 36 37 38
17. | -5x<-50 X>1D | s D s ms S g s
9 10 11 12 13 14 15 16
= et ) ——— |-
10. —658 0O 1 2 3 4 5 6 7
_ e —t—)
4. 24>12x 50 -49 -A8 -47 -46 -45 -44
. 12. 13. 4. ‘3 l6. 17. |
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Name: Unit 5: Equations & Inequalities

Date: Per: Homework 8: Solving One-Step Inequalities
(using multiplication/division)

Directions: Solve the inequality and graph the solution.

I 4x<36 ke85 BT
4 9 -5 = 1

— | —0

b1 % 9 10012 | 1€ 9V 1zB | A b 5432 -1
<< 3.3 Besl -2 6.10/<-10
- 1o Jo
L - -

@ “lb & r r>-lb ) e
< L L L L L 1 L - < 'l 1 ] L L 1 L L. < L L L 'l 1 L 1 .
T s mm i | oh b e A | s £ ot
7.72>9 ¥, s .0 9. ~4v< 60

9 9 -6 - -

e— D &—o9 o—
"5 L 7 8 4 o1l | 39 B 42 43 M 4S | -8 - cle-is - B 12
£) z 11. 14<0.8m .10 8 3
“l&rsza (1) D_§_6——g—- lli 37235 '

[,:25 17 | NS<m  {m>nNs 02t

€ e °© ; . ~— i

3

3 3 3 1 (' [ ] & I 4 3 1 i [ >

8 9 bW 1213 1Y 4 15 W ni1s 12w -2 -1 012 3 Y
Directions: Determine if the given value is a solution to the inequality.
13. 9x<-18;x=3 k

3

14. z<—5;k=—8 'I5.6<§;v=18
-27 4 -8 Yy L
ye&s -2¢-5 No b3 No
16. 0.5n26,n=12 17. £ 57 7232 18. -3p>2L p=-7
0502) 2L ;; L -3(-1) >2)
> = - 21 72]
b2l Nes 8-42 -1 NES No
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Name: Date:
Topic: Class:
Main Ideas/Questions | Notes/Examples
Solve and graph the solution to each inequaility.
1. ¢-6>-10 2. 2m<14
MIXED b +b z 2
e lep >4 [m
Pl L L L OI' [ ] [ |‘)\ wa L L L 1 L Il L .
1 b B4 -3-2-1 | 4 8 L 7 €9 >
3. 8<a+9 BV 9 .-
_.q "°l g. ——8> 2 g
-l40 !azqz \i<|(o}
8 : o)
1 1 L ’\ i 1 L 1 1 L L 1 .
-4 3 -2 -1 o | 2 13 14 15 1 1 1% (9
5. -5r=45 6. -5<k-16
) 4l tlo
vy £-9 i<k K>l z
&m0 o
2w i 85 e | 3 & ip it iz i3 o
7. x+8<3 832> _4-3
-8 -8 T3
pe i
——0 o
€ -1 b 5-4 8 -2 | -2 -0-9 -8 -1 "5
9. n—-(-6)>8 10. 405:5£_
+(-b) +(-b) -5 -5
[ %%q |g¢-8
G A} [ L 1 L 1 .
-l 0| 2 3 4 § -t -0 -9 -8 -1 - -5
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1. w+(2)>-15 12. -7>v-13
~-(-2) =(-2) 43 43 _
_ . .
‘W _?__|3| b-——V .V-—b
o — @
“b -5 =14 -3 =12 -l - 10 2 4 5 b 1 % 9
13. 4k>24 14. z+7.8<121
L} T .‘-]'8 ‘-—7: g
L B
k>0.Lb z 243
P2 L L Gl L 1 _l§ pa % L 4I. [ L L L.
-l Ol 23 4 5 1l 2 3 45 b 1
3. 8 3 2 5
1 -:-‘i - o= 16. 3=<c—-—
53'): 3 > 5 "o 33 <c 2
M eona-58
(x> 3] 57T
5, +s
(74 1
) —
o > Tee o ez
<] 0 I 2 3 45 Il 23 45 b 7
Translate each inequadlity using a variable.
17. “The sum of a number and 3 is less than or Z
TRANSLATING equal to 8." N3 £¢
@-VP—%I Qp 18. “The product of a number and -5 is greater . _
INEQUALITIES | o7 %
19. "7 subtracted from a number is no less than
16." n-121b
20. “10is fewer than the quotient of a number DL n
and -4." -l-i
21. “Three-fourths of a number is at least 75." -3—' Nnz15
22 v gonymber increased by -8 is greater than n+ (,g) 7-2D
23. "A number divided by 5 has a minimum 0N d 6]
value of 9." o)
24. "151s less than -4 subtracted from a number.” | {5 & N - (,"‘f)

@® Gina Wilson (All Things Algebra®, LLC), 2019



ONE-STEP INEQUALITIES MAZE!

Directions: Solve eachinequadlity. Use your solutions to navigate through the maze. Show all work!

2<x-14 5x215 2. 6>—;- .2 x+(-6)<3

x<16 x<3 |27 X x>3

X <12
'x<-]6‘\x<]6 x<75 x225) 7 | x>12 x<-3

Be

x-9216 -12>-17 x+9>-8
Zed Gk gyt i
2 2 S 75 x27 x>-17 —‘—;j;,'
¢4 Xz2 X2-5 X
x>-4 A/ x<0 | x T / x>-1
5.--10-%.5 x=121 —2x>18 3<x-14
5 4+ z Z
-50>x |EED| T ., |G<P x¢-a |17
X<-50
g-j@ x<-2 x20 x>-9 x>-36 \x<-36 x2-11
x—(-6) <- | -3<x-12 Y _]6>% q \ x+(-15))z-4g
F (L) +-b Y12 412 ~-CIs) -(
x<-b | —— -4 7 X % <64
X >a X
<D 7 x<9 x2-13 xs28 7 (G211
—7x< =70 x+(-3)<26 52x+18 /
" - -I8 EﬂC[I

x<-23 x=>23

x213

Xz 1D ~Bzx @
X4-13

@\ x<10 x229 x>6 x>22 > -20 x <-20

x+62-16 \ 42>7x x-18>- @})_—255(—4)

b -b 7
ey ¢>-22) > X %> 14 X = 20

2y

®
8

X >4
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Name:

Date:

Per:

Unit 5: Equations & Inequalities

Homework 9: Solving One-Step Inequalities

(all operations)

** This is a 2-page document! **

Directions: Solve and graph the solution to each inequality.
1. x+15<8 e, 3. —4a>-20
-15 -1 3273 S
[x2T] pz2] [ocs
,<...3....\,...‘....\,.(...‘...‘
0 <9 -8 <1-b -5 4 i€ 19 20 21 22 23 24 | 23 4 8 & 7
4. —4<v—4 A 6. -8 6. k+(-3)<-14
+ - -(-3) -(-3)
-2¢v \vys>-2 iVUf? / <)
O E € Q y ‘. N
-5 4 -3-2 - 0! ys 4 41 42 492 51 | -4 43 -2 -y -1 9 -8
7. 8c<32 w 9. 122-(-10)
e —>-6 8§
€ -2 o +H-10) +(-10)
W >=-30
ez ] “izn  [ne¢-q
—— .0. — | O .a‘f. . —®
-I“l -lb "5 -;'f '3 -'2 —'I . -3:3 az -'3: -éo~iq ~2g -2 42 -Il <10 -9 € -1 -4
189y . ) 1. g+892121 12. 162<1.2¢
]"6 -8 ﬁ 'gﬁ "2_ ':Z )
\) <8 ] 13.54¢ _-t>13.5}
< L 1 L 1 1 » P 1 L 1 L 1 1 » vl 1 L ] 1 1 1 1 —
56 1% 9 100 0 1 234560 o W2 13 4 )5 1
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3 9 o7 1 5 2
13, x-3 12 %71, 18°,.5,22 .8
x 55110 3>6f L r 82215 -
X~ 4> $ |
ST l £ <1y r>% .6
3 +3 5 <
5 5 X
s 1 r Z Y'Z I.B'—
Xt X422 3 =
< ) 1 1 L L L L L A < L l l J; l | N < 1 L lt L ] L 3 >\
01 234 %5 o n\zsl'{;su,n -l 0l 23 45
Directions: Determine whether the given value is a solution to the inequality.
16- ¢c—5>-8c¢c=-1 17. _42ﬂ.m=]2 18. 7V2-49:v=—3
6/
~-1-5 >-¢ 4212 ,2 763 249
~lb> -8 -21> -419
Yes -y _7 -2 No Yes
]9- —4>k+9:k=—]3 20. —-3a>27:a=—5 2" £S—5:p=—20
-4 > -13 49 -3(-5) > 27 20 & -
-4> -4 16> 27
No No —5£ -5 Nées
22. r-0921238;r =131 23. 4g<21.2,g=52 24. 21, 3
8 2’ 10
< ? 2
4 ¢
12.2 212.3¢ 20.8 <21-2 2 .18 _5
g 10 o
No Vs | F<d No
Directions: Translate each inequality. Do not solve.
25. “The difference between a number and 7 is greater than -16." Nn-1>-lb
26. “Twice a number is less than 30.” in L 30
27. "5 more than a number is greater than or equal to 27." n 15 2 7,")
28. "The quotient of a number and -6 is at most -8." % L -g
29. “14 subtracted from a number is no less than 50.” n-14 =250
30. “42is fewer than the product of a number and -3." UQ 4 -3n
31. "Two-fifths of a number has a maximum value of 75." -67‘—h £7S
32. "“20less than a number is at least 100.” N -20 2 |oD
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Name:

Date:

Topic:

Class:

Main Ideas/Questions

Notes/Examples

Use the steps below to guide you in writing inequailities to solve problems.

REAL-WORLD | © cHoosE A vARIiABLE | @ WRITE AN EQUATION © SOLVE!
- i What are you trying to find? Look for key words
Ore 619'0 Inequahlles Assign this fo a variable if the for the operation and h ie sure fo 1
problem doesn't give it. direction of the inequality! check youranswer
Directions: Define a variable, write an inequality, and give the solution.
1. A marathon runner plans to run at least 62 Variable:
SET 1: miles this week. So far, he has run 27 miles. Mm=mil &

Addilion &
Sublrachion

How many more miles does he need to run
to reach his goal?

Inequality:
21+m = b2 27+mM 2 62
-2‘7 -2“7 Solution:
mz 35 m2z 35 mikes
2. Aria likes to keep her credit card balance Variable:
below $800. Her last statement showed a -
balance over this amount, so she sentin a b - ba’ \ance/
payment for $250 to bring the balance Inequallly:
under her limit. What was the balance on - Z
her statement? b 250 800
b-250 < 200 Sofufon:
b < 105D

3. A category 4 storm in the Atlantic ocean has | Verable:
a wind speed of 132 mph. The wind speed = N
must reach a minimum of 157 mph to be X C%’?ﬂ 5’ n
classified as a category 5 storm. Find the

Inequality:
change in wind speed required to change
the storm to category 5. 187 < X+132
|I5T4£ X4 132 Solution:
25<£ X
4. Students on a field trip are divided into 24 Variable:
groups with no more than 5 students in =
SET 2, each group. Find the number of students S S"‘vtdCVU("S
. on the ﬁeld frip. |nequamy;
Multiplication S S ¢z
™ 2. > ¢g .24 =
& Division 1 24 > 24
Solution:

S£120 S 4120 stvdents
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5. A stock s selling at $2.40 per share. If Gary

Variable:

can spend at most $150 on the stock, how — 3
many shares can he purchase? X \Y MY&S
é l 50 Inequality:
ﬁ%’o& S0 240X £ 15D
2 ' g_ Solution:
L
X E0Z X4 2.5 shaves
6. An online shop had at least 3 fimes as many Variable:
orders in 2019 than they had in 2018. If they -
had 225 orders in 2018, how many orders did X= orders
they hgl(VG in 20192 Inequality:
225 —— 23 -2 2
325 3 25 225
Solution:
Y >
XZ 7S X 25 orders

SET 3:
Mixed Operations

25t = 24in~

7. Kate withdrew $240 from her bank account,
leaving a balance that is greater than $500.
What was her balance before the

Variable:

b= balance

withdrawal? Inequality:
b-240 > 5D0 b-240 > SO
+Z";D TZ 4 O Solution:
b>74D b > 740
8. Jeremiah ran 6 miles. His average pace per | Varable:
mile was no more than 8 minutes. How - .
many minutes did Jeremiah spend running? M - M ih W‘tS
t j Inequality:
b £% b ‘ M . g
b v ~
Solution:
¢ 4g .
M m & HE Min
9. Alake s rising at arate of 1.5 inches per day. | Variable:
If the lake rises more than 2 feet, it will cayse al - d od S
flooding. How many days can the lake rise \{
at this rate without causing flooding? Inequality:
Y |.8d £ 24
[ ‘ 5 ' . 5 Solution:
d< | d £\ days
10. A theater must sell @ minimum of 1,200 Variable:
tickets for a show to go on. If they have -
sold 387 tickets so far, how many more t b Ckek
tickets must they sell? Inequality:
1+ +3%872>1200 t+3%7 2 1200
-387 -3&77 Sotution:
tz 313 t2 813 fidkets
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Name:

Date: Per:

Unit §: Equations & Inequalities

Homework 10: One-Step Inequalities
Word Problems

** This is a 2-page document! **

Directions: Solve each problem using an inequality.

Identify both the inequality and solution.

1. A gym teacher placed golf balls into 9
buckets so that each bucket had at least 15
balls. How many total golf balls are there?

.o
b 2135

2. Omaris on a diet and eats no more than
1,800 calories per day. If he has consumed
385 calories so far today, how many more
calories he can consume?

C +385 4100
-285 -385

C £ 141§

Inequality Solution
<215 b2 125 balls

Inequality Solution

C+385 £1800| C £ 1415 cold.

3. Elena types approximately 50 words per
minute. How many minutes will it take her to
type an essay with a maximum of 800 words?

4. Nick drained 2.8 gallons of water from a fish
tank. If the amount of water in the fish tank is
now less than 24.5 gallons, how many gallons
were in the tank before he drained the

50 M S?OO water?
50 50 %—z.g Z 24.S
M 2 \b +2.8 +2.%
¢ 213
Inequality Solution Inequality Solution
SDM £800 | M&Ib Min | 9-2.8 ¢24.5 | 94213 gal.

5. A pilot must log a minimum of 1,500 training
hours in order to fly an aircraft. if Brett has
logged 892 hours so far, how many more
hours must he log?

H+8a2 21500

4. The vailue of a baseball card is increasing at
a rate of $40 per year. If Tom purchased the
card for $300, how many years will it take for
the card to at least triple in value?

Dy 2 LoD

~892 -89Z2 Ho 4D
H 2 w03 \I 215
Inequality Solution Inequality Solution
H+8492 2 1500 | H 20608 Hours | H0Y 2900 N2 15 years
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7. Sean's cat weighs at least 45 pounds less
than his dog weighs. If his cat weighs 13.8
pounds, how much does his dog weigh?

D-1B.8 245

8. Marsha went out to dinner with four of her
friends. If each person paid no more than
$21.50, what was the total dinner bille

(5}% <215 -(5)

13 +I13.&
D 2588 R £ 1015
Inequality Solution Inequality Solution
D-12.8 245 | D25g2.8 b | 5§ £215 B <% 0750

9. Naomi bought fabric on sale for $3.20 per
yard. If she spent less than $40, how many
yards did purchase?

10. Lena always keeps her bank account
balance above $50. If she spent $11.60 on
lunch, what was her balance before buying

A l—[ lunch?e
20N <« 1D
= b 390 2- w0 >50
3.20 ' +1).b0 +1.LD
<125 B> bl D
Inequality Solution Inequality Solution
3.20\ 24D N&iz25vds | »-1-bp »s0 | B>¥bl.bo

11. Sienna listened to music on her phone while | 12. A football stadium needs to sell no less than
she exercised at the gym. If she listened to 45,000 seats to air a game on TV. If they sold
12 songs and each song was at least 3.5 three-fifths of the seats and were able to
minutes long, how many minutes she spend air the game, how many seats are in the

exercising? stadium?
5 .2 5§ 245000 -2
02 T‘\g.’ > 3.5 -(12) 3 © 3
§ 2 75000
M2 HZ
Inequality Solution 3 Inequality Solution
M 235 MZ42 Min | ES245000 | s2715D0 seats
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Name: Math é
Date: Per: Unit 5: Equations & Inequalities

Quiz 5-2: Inequalities

Directions: Graph each inequality

&—0
1.x24 <t+—t—t—t——1> 2, c<-9 <~ >
!l 234 S 6T -2 -l =b 9 -% -1-C
o—> e
3.153<m  €—t—t——t—t—t> 4.2%2:: <>
2 13 4 1S le N I8 -1 O 1| 2
my1s3 = 5N s | 3
023
Directions: Translate into an inequality using a variable.
5. "A number is less than 8." 5. N <8
6. N 2-13

4. "A numberis at least-13."

Directions: Solve and graph the solution each inequality.

7. x+9<7 &L>9-3
-1 -9 3 v ; X4-2Z
X('Z F' 8 ‘p 2—2—’
&0 9 0\77
-ttt <:.l':‘: .:.,:.:.> 1 Y.:/:“a
-5 4 3-2-10 | 3 A %W U :
9. —ba<-42 10. 132r-3 n W=z~
© ‘b + 3
L -b 3 % . N>-52
) A l2vr Y £lb .
& 1 1 L ul 1 [ L ? & 1 [l 1 1 | 1 | L.
"y5ba¢% 9> _4‘1'31"4?53.?:\'9\"
1. w+(-4)2-5 12.'13>i4 .-y
-(#) -(H) -
~-52<n h>-52
w2 -l
——— o——

< [ 1 [ L 1 (] [ >

55 64 63 82 -6 %o "
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13 04m276 14. 13252489 13._M 219
> >Ol:l A 1a. 2 <43
m= q.::,_ig 15. \47‘3’
6 C& 24
N O P Tz2 4567
5, k-2l0>§ 1. %csz%
rL +L %-%ci—%‘g.f—
K>3 Cé's—"' cst7d
i S E—

[] ] 1
<

4o 1234958
Directions: For each problem (a) translate into an inequality using

1 ) el

RPN
a

variable, then (b) solve.

17. "The difference of a number and ¢ is less than -20." _
7.0 N-2¢-20
N-9 <-20 Y
+9  +9 (o)
Nn<-ll 18. (o) _=1 2 -4
18. "The quotient of a number and -7 is a minimum of -4.” (b) N £ 2%

N
1) — -udd . (-
(D224 - 6D
N £ 29

19. Shiloh needs to sell more than 125 bracelets at a craft fair to
make a profit. If she has sold 78 so far, how many more does

she need to sell?

18+ b >125
-7 -1¥
b >Y7

20. A fish tank can hold at most 160 gallons of water. If the tank
is being filled with water using a hose at a rate of 6.4 gallons
per minute, how many minutes can the tank be filled before

it overfills2
(-4 M £ 10D
b4 b-4
M £25

19. (o) _18+b > 128

o) b>47 brucelets
20. (o) _lo 4 M £ 1D

6 M £ 25 Minutes
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Unit 5 Test Study Guide Name:
(Equations & Inequalities) Date: Per:
Topic 1: Solving One-Step Equations
Directions: Solve each equation. Check all solutions.
1. x-9=15 2. 4p=152 3. 5=k+4
2 +9 4 Y -4 -4
X= 2,4-{ P =13 -9 =k |
v 24-9=i18 4(13) =s2 9
= 52252/ =5="1+¢
1S=[8v E=g,
ey 5 z+(-9)=-14 6. —24=-8m
"4 =D -(-2) = -®
= -2% f Z=-5 3=m
' '—238 =1 ~S+(-9) =4 ~21=-3(3)
sV ~14=444 -2 =-24
7. r-(-5)=21 %f")ﬁ.zw'(z.u) 9. 16.5=z.9+w
¥(-5) +(-5) 2.6 -1-9 14
. = b =W
=To m= 39 82 =]
_S_a’_- =15
b -(-5) =2] W .S =7.9+8
21=21v I5=15vV .S =15 V]
5 11 3 .7 1,2
]0. f—z-—-ﬁ ]1. zy—]g 12. 45—0—.-63
+5 +5 1.83,:=-05.4 2.9 _,.20
b o 3 g1 59 3 32 a+ 35
§e 1 N 173 3= a
-5 = o .
=15 L I DR B Y 3= 3 o3
- 4l
—_— T%Z"}";‘," |%=|:11\/ Yz =45 v
Directions: Write each sentence as an equation. Do not solve.
13. “14 subtracted from a numberis 11." 14. “The product of a number and -3 is -72."
Nn-14 =11 -3n = 12
15. “The quotient of a number and 4 results in 3." | 1. “-9 is the sum of a number and 164."
T =3 - =N+l
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Topic 2: One-Step Equation Word Problems

Directions: Use a variable to write an equation, then solve. Give both your equation and solution.

17. Orlando, Florida is approximately 61 square
miles less than the size of Tampa, Florida. If
Orlando is 114 square miles, find the size of

18. Rylan is saving money to purchase a ring for
his girlfriend. If he has saved $825 so far and
this is three-fifths of the cost of the ring, how

Tampa. much is the ring?
T=Tompa R= Ring
T-lbl= 114 5 .925 =3.g .S
tol ) 3 s - 3
1= ns |31§: R
Equation Solution Equation Solution
T-b! =114 NS miks | 825-2 R ¥ 1215

19. Nora took a cab that charges $1.40 per mile
from her house to the mall. If the total fare
was $23.80, find the number of miles from her
house to the mall.

20. A recipe calls for 2% cups of sugar. If Nora

has already put in 1 % cups, how many more
cups of sugar are needed?

5 2 C =Cups
M= mles |'To' +C = ZT_I‘
l‘-{Om-T 23 .80 Al +C =
(P
.40 1.40 L T
C=1Z
Equation Solution Equation Solution
_ . ls - 2 | ¢
\.40m = 23.80 1T milesg T *C =24 12 Cups
Topic 3: Representing Inequalities
Directions: Write aninequality to represent the graph.
TR S Xs8 ® T s 5 X273
< Gp—p ¥ ! v => - . } Y T } T —>
. 4 -5 -4 3 2 - 0 Xz -5 2. < 0 :29 3 4 6 X<Z

Directions: Write each sentence as an inequality, then graph.

25. “A number is greater than 12 X> 1\ 26. "A number has a minimum value of -3."¥ >-3
- T . e 2
9 o 012 B34S 6 5 43 -2 -l 0

27. “-7 is fewer than a number.” -1 & X 5 X>-1| 28. “The temperature was no more 1ho>r(1 282;
40 A -8 1 4 -5 -4 26 2w 21 29 29 % 31
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Topic 4: Solving One-Step Inequalities

Directions: Solve and graph the solution to each inequality.

29. a+7216 30. 7p<-7 Sm g
-1 -1 —_'_'-"'-:7——- 31. _528 5
'0{2"1 ?i’l ‘m_é_qof
A L L (] L L 1] L . A 1 ' L 1 1 4 4 L. Pl L i L L L L L -
b 1 8 9 101 12 -4 3 -2 -1lo 1 2 -43 -2 =41 - -39 -38 -3
32. 8<x-15 34, 9k<-36
H5 Hs & 5>3 -8 gy
7¢x 5| x>7 r>-24) =T
o— o——— o—
Hevis an | mamanmy| 23 4800
35. w+(-2)>-13 3(6?—)(: <135 (.2 a7 IRE
. y+2—<3—
12) -(2) c® m
C£2.1 Tt =
TR €21 Trte
q 9
s T
P | il 1 1 Il L i A vl L il L S— 1 [l 1 > >l 1 1 1 L 1 [} (] A
|4 <13 =12 -l -1p -9 -8 O | 234 5 ¢ -l ol 23 4 s

Directions: Write each sentence as an inequality. Do not solve.

equalto-12."

n+ s

38. “A number increased by § is less than or

£ -2

39. “16 is greater than or equal to twice a
number."

b Z2Zn

3

qﬁ\Zbo

40. “Three-fourths of a number is no less than 40."

41. “The difference of a number and 4 has a
maximum value of 25."

n-4 <25

Topic 5: Verifying Solutions

Directions: Determine whether the given value is a solution to the inequality.

42, x>6;,x=-15
-152

No

43. m<-4,m=-7
-1 £-4

Nes

2 N
_<
WM. 3srr=3

241(

1S vyes
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45 p-5<8 p=13 46. 295+k248 k=19 47. —4a>-16;a=5
13-5 2¢ 29541.9 z4.8 -4(8)Z-lb
2<% H.8s > 4.¢ ~202 -l

No \es No

Topic é: One-Step Inequality Word. Problems

Directions: Use a variable to write an inequadility, then solve. Give both your inequality and solution.

48. A group of students went on a field trip.
The students were divided into 6 buses and
each bus had less than 52 students. How

49. In their last game, the Eagles and Cowboys
scored at least 50 points. If the Eagles scored
16 points, how many ?oin-i—s did the Eagles

many students went on the field trip? score?
S=Stdents | s , 5, ., [FFRYS  E +lb>50
[P -l -\b
S<312 E 234
s I:ec;:;ify o 33'2u1i0n Inequality :oluﬁon
” studens| E¥\b 25D E 234 ofs

50. A builder bought a section of land to build
homes. Of the land he purchased, he can
develop no more than 225 acres and leave

51. Tabitha makes $7.50 per hour working at the
library. How many hours will she need to work
to earn a minimum of $3002

the rest as open space for wildlife. If he left -
128 acres as open space, how much land did h - h buLrs
he purchase? > 200
L=land L- 12.¢ £225 1.soh = 800
+12¢ ¥12% 1.0 1.0
L& 353 hzyo
Inequality Solution Inequality Solution
L-128 £ 225 L& 353 acres 7.S0h 2300 hzuo hs

52, Adrian’s gas tank can hold a maximum of
18.5 gallons. If he stops at a gas station with
3.9 gdllons in his tank, much gas can be put

53. Alex and Troy went for arun. Alex ran 4%
miles. which was at most g the distance Troy

in the tank? ran. How far did Troy run? T= Tro\’
9= gallons of 39+g £18S =< ET
- a
gas -39 39
9.4 .8 T 3
AR RY g 3 " 9 ]
Inequality Solution Inequality Solution
39+9 £1g.5 | 95 ML gallons 5 £ET T 254 miles
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Name:

Date;

Per:

Unit 5 Test
Equations & Inequalities

Solve. Show all work and check each solution.

1. x-6=-1 5’—@:«' 2 _3”1.:_24 3(,’8:): "ZJ';
+o +b -l ==\ 3 3 -2y =-24v
X =5 m= -3
x=5 m= -8
BT . (- _ -29 4.18+p=30
3 =3 -2 13 = 3 _‘g+p-]g 1gt+12=30
_ 30=30"
39 =r 13213 =1
r= -39 p= 12
5. -18=-9% -1g=-A(2) 6 y+(-2)=-19 -+ =-19
A A -1g=-I8 w1 -9 =-19
\) =-I1
2=
k= 7 = -1
'(3'4) 3
2 _gs5 (3.4) 2_9; - 95 8. MZ:Q% 4%—!%2—;—"
' -1 -28 1-23V
=284 352957 | V3 = 2%° 2%
+71 41
Ty
=31
c=28 || V7® v= 4§
Translate the equation using a variable. DO NOT SOLVE.
9. “The quotient of a number and -4 is -15" 10. 18 subtracted from a number is 26."
2 =45 n-18 =2
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Write an equation to model the problem using a variable, then solve.

11. Miquel worked 5 days last week. If he 12. Beginning at its highest point, a drop tower
worked 7.2 hours on average each day, ride drops 130 feet to a point 95 feet above
how many hours did he work for the week? the ground, then climbs to the top to drop

h again. What is the highest point of the ride?

(5>'—5-—= -2 [5> h-130 =95

+130 +30
Equation Solution Equation Solution
n
s =12 36 hrs h-130 = 9% || 225 &4

13. Eliza and her mother have a combined age | 14. Clarissa sold five-sixths of the bracelets she
of 51 years. If her mother is 39 years old, made at a craft fair. If she sold 60 bracelets,
how old is Eliza? how many bracelets did she make?

E+39 =5] L5y =po. L
-39 -39 S b S
E =12 b = 2
Equation Solution Equation Solution
5
E+39 =5 2 Yeass oM T b=U0 |72 braceleks

15. Which graph could represent a number that is no more than 72

A, i i——————| > C. Cppepet—————— >
3 4 5 6 7 8 9 10 3 4 5 6 7 8 9 10
B. €t —j— j—)p- D. <« D —j— o
3 4 5 6 7 8 9 10 3 4 5 6 7 8 9 10 A

Using the given variable, write an inequality to model the scenario.

16. “There are fewer than 60 candies in the jar"” 17. "Bowlers that score at least 228 points will

(let ¢ = the number of candies) make it to the next round.”
(let p = the number of points)

C <D pz22%

18. Which inequailities could represent the graph shown below?2 Check all that apply.

L Da 1

< 1 | R |
D ——

7 6 -5 -4 3 2 -1 0
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Determine whether the given value is a solution to the inequality.

19. x2-16,x=-7 20. 015<k k=0098 |21 c>-4c=—4 22-ws§;w=]1
12 1L 015 2 0.09¢ | -t >-Y 9.5
o — ¢
l{yes Q vyes Q vyes m/yes.
Q no no @ no Q no
Solve and graph the solution to each inequality.
23954 .7 28. n+9<2
7 -9 -9
07 2g N =-1
Q72Y n&-1
S w i mes o5 1e s
25. -12p<-12 26. 9>13+x
iz -2 -3 -3
P?_‘ -l-|>XJ' X< -
Pzl X 44
- .,  &— B e N
PRRE PN S s
27. 5y>-45 25?'%55 3
5 s
y)-oi Yy 2 -5
Y 7-9 y2-15
‘-15_ -i| -'lo -"7 % -7 b :\gl 'I|‘l -'lu-lls -'H ~}3 -'n.'
29. c-(-8)<10 3G he252 2
4 (<) r(-8) 3 10 3
e<2 h7§3‘
Ce2 h>Z
ERREETY S Do iasd
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31. For which inequalities is 8 a solution?
Check all that apply.

32. Which values are solutions to the
inequality 2.5x <J_2_? Check all that apply.
25 28

X< 4.8

A

Translate the inequadlity using a variable. DO NOT SOLVE.

33. "“The sum of a number and § is greater than
23."

nNtS > 23

34. “The product of a number and 8 has a
minimum value of -40 "

N =-40

35. "One-third of a number is at most 12."

3h £12

36. "15is no less than a number decreased
by 7."

152 n-7

37. Jason was driving at most 5 mph below the
speed limit. If he was driving 45 mph, which
inequality could be used to find the speed
limit, I2

A [+5<545
B. /+5245
C. [-45<5

D. /-4525 C.

38. Vera spent $60 on a box of chocolate bars
to sell. If she sells the bars for $1.50 each,
which inequality can be used to find the
number of bars she needs to sell, b, to
make a profit?

A. 1.5b <60
B. 1.56>60
C. 1.5 60
D. 1.56260

|}

Write an inequality to model the problem using a variable, then solve.

39. it took Darcy two days to drive from
Orlando to Pittsburgh. She drove 595 miles
on the first day and at least 1,020 miles in
total. How many miles did she drive on the

second day? qu + m > \020

-54s -595
mM2425
Inequality Solution
595+m z10g| M2 H25m;

40. Taylor is buying shares of stock that cost
$8 each. How many shares can be buy if
can spend no more than $2502

gs £ 250
< '{
S< 31.25

Inequality

%S £250

Solution

S¢ 31 8hareg
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